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Chapitre IV — Transformateurs triphasés

Exercice 1 :

1/ le rapport de transformation

m="20_ 00
Ul
2/
m=2_ 00
Ul
U, =444nfB__ S
V, =4.44n, B, S =,"=~/3444n, /B S
U
m = —20 = \/§n2
U, n
n, = 38spires
3/
PN=31t, o = 11, =12,8x107°Q
4/
S, =+3U, I, =1, =3804
5/
a/
U, =U,, —(rt, cosp, — xt, sing, ), = U, =395.8V
b/

\/EUZI2 Cos o,

V3U, 1L, cosg, + Py, +3rt,1?
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Exercice 2 :

1/

U
m=—2=727%x10""
U

1
2/
V, =4.44n, /B, S

= U, =+/34.44n,/B._S
U

_ 1
\34.44 /B 8

=4206spires

n

VZO = 4'44n2meaxS
= U,, =\34.44n, /B S

U, .
Nygh= =3lspires
S N3444/B. S
3/ schéma équivalent simplifi¢'par phase a vide :
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6/
a/

b/
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P,==Ll ==L =R =403/Q
RF RF
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P =31t = 1t, =413x107°Q)
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*t, :\/M_rtz :\/M_rtj — 7340720

U, =U,, —\/g(rtz cOsQ, + xt, SiNg, ), = U, =380V
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S, =3U,, I, = If=15194

x/gUzl2 COsQ,

\ \/§U212 cosp, + P, + 3rt,1;

=95,7%



